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INSTRUCTIONS AND INFROMATION

Read the following instructions carefully and follow them precisely.

1

N

® NP oW AW

Answer ALL the questions.

A special ANSWER BOOK is provided in which to answer ALL the questions.
Show workings in order to achieve part marks.

You may use a non — programme calculator.

You may use a blue/black ink to answer the questions.

Where applicable show all calculations to ONE decimal place.

Write neatly and legibly,

Use the information and table below as a guide when anSwering the questions.
Try NOT to deviate from it. :

GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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Question 1 : 50 marks; 30 minutes

Topic of this question

This question integrates:

Concepts and Accounting equation

Financial Accounting

Concepts

Accounting equation

Question 2 : 85 marks; 51 minutes

Topic of this question

This question integrates:

Financial Statements and notes

Financial Accounting

Prepare an Income statement andnotes to
Financial Statements

Managing Resources

Internal control

Question 3 : 45 marks; 27 minutes

Topic of this question

This question integrates:

Concepts and Balance Sheet

Financial Accounting

Prepare a Balance sheet

Question 4: 40 marks; 24 minutes

Topic of this question

This question integrates:

Concepts
Analysis and interpretation

Financial Accounting

Calculations and financial indicators

Analysis and interpretation

Question 5 : 50 marks; 30 minutes

~ Yopic of this question

| This question integrates:

Manufacturing and VAT

Managerial Accounting

Direct materials cost, direct labour and factory
overheads

Cost calculations

VAT concerts and calculations

Managing Resources

Internal control

Question 6 : 30 marks; 18 minutes

Topic of this guestion

This question integrates:

Cash budget

Managerial Accounting

Cash budget calculations

Managing Resources

Internal control and internal audit

GREENBURY SECONDARY SCHOOL
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QUESTlON ONE: CONCEPTS AND ACCOUNTING EQUATION [50 MARKS; 30 MINUTES]
Required:
1.1 Match the concepts in Column A with the descriptibn /explanations in Column B,
Write down only the letter corresponding to the correct concept. E.g. 1.1.7D (5)
_ COLUMN A COLUMN B
1.14.1. Equity : - A. Arecording book where double entry principle is
applied, accounts have a debit and credit side
1.1.2. ledger ' B.  Consist of income statement and balanc? sheet.
1.1.3. Subsidiary journal “ { €. Documents thrat the business uses to cap’ture data of
| transactions and proof that a transaction occurred.
1.1.4. Financial statements - D.  Referred to the book of first entry where all financial {_
' statements are recorded.
1.1.5. Source documents E.  Also known as the accounting cycle
F.  Consist of Trading account and Profit and Loss
account
G.  Assets plus liability
Assets minus liability
1.2.  Accounting Equation [45]
Analyse the following transactions accordihg to the columns provided on the
special answer booklet, (36)

1.2.1.
1.2.2,
1!2.3.

1.2.4.
1.2.5.

1.3.1.

1.3.2.

GREENBURY SECONDARY SCHOOL

Assume the Bank balance is favourable.

A debtor who owes R 9 200 was declared insolvent. His estate paid 30 cents in the
rand. The balance is to be written off. (2 entries)

Paid Blitz Transport by cheque, R 1 250 for delivery of merchandise.

Issued a cheque to SA Suppliers for R 2.280 in full settlement of account R 2 400.

Service fees R 60, cash deposit fees R 50.

A debtor’s cheque for R3 400 was dishonoured by the bank marked refer to drawer.

Refer to transaction 1.2.1.

Name and explain the GAAP principle applied to the transaction. : (3)

Refer to transaction 1.2.3.

Calculate the percentage discount the business received. (2)

GRADE: 10 PLEASE TURN OVER
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1.3.3. Provide the source document that would be used for transaction:
e 124,
e 1725,
1.3.4. List TWO reasons why the bank may dishonour a debtor’s cheque.
)
GREENBURY SECONDARY SCHOOL GRADE: 10

FINAL EXAMINATION: 2016

(2)

(2)
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QUESTION TWO: INCOME STATEMENT AND NOTESTO FINANCIAL STATEMENTS [85 MARKS;51 MINUTES]

You are provided with information relating SUV Traders a business owned b'y S. Sun for the year ended 28
February 2016. '

Required :
2.1.1. Prepare the Income Statement for the year ended 28 February 2016. (50)
2.1.2. List two items that will be included in Trade and other Receivables. “ (2)
2.1.3. Complete the following notes to the financial statements:
e . Trade and other Payables (13)
Information : |
Pre —Adjustment Trial Balance on 28 February 2016
Vehicles o 180 000 ()
Equipment 58 000
Accumulated depreciation on vehicles ' i 74 000
Accumulated depreciation on equipment | 26 800
Loan : Africa Bank ?
Fixed deposit: New Bank (9%) 50 000
Trading stock | 330 000
Debtors control | 37 000
Bank (debit) | . 30200
Creditors control T 52 800
{ Sales 3 800 000
Cost of sales 2 100 000
Debtors allowances : ’ 126 100 ,
Salaries and wages ’ | | 970 000 (
Rent income ‘ 132 750
insurance ' 16 200
Packing material o 5800
Pension contributions _ 5100
1 UIF contributions 2710
Bank charges ' 470
Discount received : 230
Interest on fixed deposit ' 3000
Telephone 10 500
Bad debts : 1100

GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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Adjustments and Additional Information:

1.

.

v owoN

10.

S

11.

(GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER

A debtor returned unsatisfactory goods. The selling price was R6 400 and mark —up 60 % on cost.
This was returned to the supplier.

Telephone still due, R500.
Write off the account of a debtor as irrecoverable, R 900.
Insurance includes an annual premium of R2 700 that was paid on 10ctober 2015.

Rent has been received for 14 months.

According to the lease agreement rent was increased by 15% with effect from
1 December 2015.

Provide for outstanding interest on fixed deposit.

The bank statement was received after the Trial Balance was drawn up. The following items have
not been entered.

e Bank charges R 330
e Interest on overdraft R 200

The physical stock count at the end of the year revealed the following:

e Trading stock R 331600
o Packing materials R 1400 |

The loan statement received from Africa Bank reflected the following:

Balance on 1 March 2015 » 400 000
Interest on loan ?

Repayments during the year 90 000
Balance on 28 February 2016 340 000

o Interest is to be capitalised. No entry was made for the interest on loan.

An employee was left out of the salaries journal for February 2016. The details on his
pay slip were as follows:

Gross salary ?

Deductions:
PAYE 1600
UIF 20 3
Pension Fund 630 |

Net salary 6 680

The employer contributes :
e 10 % of gross salary to pension fund
e 1%toUIF
Provide for depreciation as follows:

s On equipment at 10% p.a. on cost

e On vehicles at 20 % p.a. using diminishing balances method.
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2.2,  You are provided with the following information which was extracted from the records
‘of Minka Traders, their accounting period ends on 30 September 2016

~ Required :
2.2.1.

2.2.2. ‘
their tangible assets.

Information:

Page 8 of 15

Provide the missing amounts for A/B/C/D/E/F/G/H/I

List THkEE control measures to be implemented by the business to properly manage

FINAL EXAMINATION: 2016

| Land a_nd‘

1 Accumulated depreciation

Tangible asset | Vehicles Equipment
| buildings ‘. » ‘

Cost 1050000 | 880000 | 470000
| Accumulated depreciation - _(76‘9. 000) o«

Cérrying value(beg. of year) 1 050 000 B “ _346 600
| Movements: - B -
Additions at cost A 0 - 86000

Disposals at carrying value 0 0 0

Depreciatién - D G

Carrying value(end of year) 1 300 000 F i

Cost 1300000 | 880000 . H

. E (162 360)

Additional information:

1. = The following relates to Equipment:

s Equipment was purcha‘sed for cash on 1 April 2016. » :
¢ Equipment is depreciated at 10 % p.a. on diminishing balance method.

2, Vehicles are depreciated at 15 % p.a. on cost

3. Land and buildings were purchased during the year.

GREENBURY SECONDARY SCHOOL

GRADE: 10
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QUESTION THREE: BALANCE SHEET AND NOTES [45 MARKS; 27 MINUTES]

You are provided with information relating to Pac Man Stores. This is a sole trader business owned by
P. Pac.The financial year ends on 30 June 2016

Required :
3.1. Prepare the Balance Sheet on 30 June 2016 (40)
3.2. Complete the note for Owner’s Equity (5)

All other notes must be shown within brackets

Information:

1. The business has two Fixed Deposits at Easy Bank , R 480 000 :

R 180 000of the Fixed Deposit matures on 1 December 2016.
3 2. The net profit for the year amounts to R 225 000 after taking the following into account
' however these were not processed onto the Balance Sheet:

e Rent of R 15 000 was received in advance.
e Packing material on hand, amounts to R 4 000.
e  Water and electricity still due, R 5 500

3. The following relates to the Loan at ABC Bank:

Balance on 1 July 2015 190 000
Interest on loan {capitalised) 20 000
Repayments during the year 30 000

A capital repayment of 20 % of the closing balance is made on 31 December each year.

7.  The owner increased his capital by depositing R30 000 into the business current account.
No entry was made,

M) Post Closing Trial Balance on 30 June 2016.

| Capital (1 July 2015) 169 500
Trading stock 80000
Tangible assets 160 500
Debtors control 61 500
Drawings 20000
Deposit on electricity 8 000
Bank (cr) 160 000
Creditors control 55 000
Petty cash 1500
Cash Float 2 000
Accrued Income 8 500
Prepaid expenses 4 000

GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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QUESTION FOUR : ANALYSIS AND INTERPRETATION OF FINANCIAL STATEMENTS [40 MARKS; MINUTES]

4.1. Match the concepts to the statements given below. Write only the correct concept
Concepts : Solvency; Liquidity ; Profitability; Return
Statements :
4.1.1. The ability of the business to meet short term debts
4.1.2, The ability of the business to control expenses and determine profits.
4.1.3. The ability of the business to meet long term debts _
4.1.4. The extent to which the owners have been rewarded for their investmenﬁt in a business.
4.2. You are provided with information relating to FIFA Traders for the year ended:
31 December 2016.
Required:
4.2.1. Calculate the following for 31 December 2016;
a) Mark—up
o |[sit acceptable? - (6)
o Provide TWO reasons for your answer | _
b)  Current ratio ' o : (3)
¢)  Acid test ratio | - 3)
d)  Ifthe solvency ratio is 2.5 : 1 | o
Calculate the value of Non — Current Liabilities ()
e}  Return on equity , : : . (5)( )
4.2.2. Doesthe business have a liguidity problem? Quote THREE fmancxal indicators, percentages
or ratio’s to support your answer, (10)
4.2'3'

Should the owner be satisfied with his return on his investment? Explain briefly. ‘ (3}

GREENBURY SECONDARY SCHOOL GRADE:; 10 PLEASE TURN OVER
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Information :

A.  EXTRACT FROM INCOME STATEMENT:

Sales 980 000
Cost of sales 700 000
Gross profit ?
Other income 12 000
Operating expenses 72 000
B. EXTRACT OF BALANCE SHEET: ‘
Tangible assets 530 000
3 Debtors control 50 000

| Trading stock v 210000
Cash 10 000
Creditors control 120 000
Non — Current Liabilities ?
Capital (1 January 2016) 400 000
Capital (31 December 2016) 900 000

C. FINANCIAL INDICATORS:

. 2016 2015

- Mark —up ? , 45 %
Operating expenses on sales ' ? 16 %
Current ratio ? 2:1
Acid test ratio ? 08:1
Solvency 25:1 1:1
Return on Equity ? 20%
Debtors collection period 29 days 36 days
Credits paymen period 52 days 47 days

GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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QUESTION FIVE: MANUFACTURING AND VAT » v [50 MARKS; 30 MINUTES]

5.. State whether the following statements are True or False N '  (5)
5.1.1. Advertising will be classified as administration cost. |
5.1.2. | Prime cost = direct material cost + diré.ct labour cost + factory overhead cost
5.1.3. Unit cost = total cost of finished goods + no of units produced
5.1.4, “Interest on loan can be classified as factory overhead cost.

5.1.5. The wages of the factory cleaner will be classified as a factory overhead cost.

5.2.

Hi Flv Kites is a manufacturing business that makes
standard kites for children.

Provided below is a summary of all costs for October 2016.

Cost per kite :

| Materials per kite . | R 30
‘Wood per kite | , - RS
Line per kite : ' R5
Wage pér completed kite _ . R 40
Cost for the month:
Salary of factory foreman ' 5000
Rent— factory occupies 80% of the floor space L 11 250
Water and electricity -shared between factory and office in the - 3450
ratio 2:1 e | “ 3 ( \
indirect materials for factory a ‘ 450
Selling price vper kite - ‘ R146
| Number of kites p‘roduced | ' : | 2160

Required :

5.2.1. Calculate the Direct Material Cost. _ - | {4)
5.2.2. Calculate the Prime Cost. \ o (3)
5.2.3. Calculate Factory Overhead Cost ' {7
5.2.4. Calculate the unit cost. ' | (3)
5.2.5. Explain the difference between a fixed cost and a variable cost. Provide an example of each. (4)
5.2.6. The owner is considering increasing the wage per completed kite to R44. {4)

List TWO consequences of an increase in wages to the business.

GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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5.3. VAT: [20]
5.3.1. Match the terms in Column A with the descriptions in Celumn B. Write only the letter (7)
corresponding to the correct term.
Column A Column B
i Compulsory registration A The normal rate at which VAT when goods are sold
or services rendered by a registered VAT vendor.
il Voluntary registration B  Goods and services on which VAT is charged at 0%.
iii. Standard rate C VAT registration by a business whose annual
turnover exceeds R 1 million
iv. Zero rate D The VAT charged to or paid by a vendor in
‘ acquiring goods or services from another VAT
vendor.
V. Exempt items E The VAT charged by a vendor when it sells goods or
renders a service.
vi. Output tax F  Goods and services on which no VAT is charged.
vii. Input tax G VAT registration by a business whose annual
turnover is less than R 1 million but more than
R50 000
5.3.2. Dell Computers is a registered VAT vendor. The business buys computer parts for R 2 280
inclusive of VAT. A computer is assembled from the parts and are sold at R 5 000 excluding
) VAT.
e Determine Input Vat and Output Vat (6)
o Calculate the VAT payable to or refundable by SARS. (4)
5.3.3. M. Mo the owner of Mo’s Woodworks is a registered VAT vendor. He charges his customers

VAT but fails to pay over to SARS.
List THREE consequences of VAT fraud. (3)

" GREENBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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QUESTION SIX: CASH BUDGET L [30 MARKS; 18 MINUTES]

6.1.  Sky Traders is a business owned by S. Skye.

The inexperienced bookkeeper presented the following cash budget forthe period January
and February 2017.
Information:

CASH BUDGET FOR THE PERIOD JANUARY AND FEBRUARY 2017

January |  February

Cash Receipts o |
Cashsales - o 230000 | 150000
Creditsales R - 7180000 . | 210000

{Rent income T 1500 | 17250
Total Receipts 0 T |
Cash Payments . , ,

| Cash purchases .‘ : | 90 000 1 | 100 000
“Salaries T | 62000 | 68000
Depreciation - T | 1200 - | 1400
Vehicle purchased - o 35000 10 000
Drawings of stock . ‘900 : . 800
Interest on loans (15%) ‘ 400 300

| Repayment of loan " | 15 000 »

Advertising T sooo | 8o
Sundry expenses '. ‘ 1500 1200
Bad debts “ - 500 700
Total Payménts

Required :

6.1.1. The purpose of preparing a Cash Budget is to determine future proﬂt or !oss
State whether this statement is True or False
6.1.2. Refer to the Cash Budget. Identify the items that have been mcorrectly entered in the
- Cash Budget :
6.1.3. Calculate the percentage increase in rent income.

6.1.4. On 1January 2017 the business will purchase a new vehicle. A deposit of R35 000 will
be paid in January 2017 and the balance is to be paid in 10 equal monthly instalments
of R10 000 commenicing on 1 February 2017.

Calculate the total purchase price of the vehicle,

( )

(2)

(8)

(3)

(5)

GREEMBURY SECONDARY SCHOOL GRADE: 10 PLEASE TURN OVER
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6.1.5. Provide a reason why the interest on loan has decreased? (2)
6.1.6.  After correcting the errors the following surplus / deficit was identified. (4)
Calculate the missing amounts:
Surplus / deficit 33100 (20 250)
Bank opening balance 5300 B
Bank closing balance A C
6.2.  Problem - Solving: Management of stock (6)
Barney is the owner of two school tuck shops. Betty is the manager of Shop A and
Benny is the manager of Shop B.
¢ Each manager earns R 1 000 per week.
e Each tuck shop sells only chips and juice.
¢ The chips cost R5 per packet and are sold at a mark — up of 50 % on cost.
s The juice is marked — up by 25 % and is sold at R 10 each.
Required :
Identify ONE problem in each tuck-shop and provide ONE solution or advice in each
case. For each problem, relevant figures must be quoted.
Information :
SHOP A SHOP B
B For October 2016 ‘ CHIPS JUICE CHIPS JUICE
- }Opening stock(units) 300 200 150 90
Stock supplied by Barney (units) 400 400 400 400
Closing stock {units) 200 150 330 120
Units sold 420 450 220 370
Cash deposited 3 150 4500 1650 3 200
GREENBURY SECONDARY SCHOOL
R DEPARTMENT OF COMMERGE
.0, MRS C MakARAY
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ACCOUNTNG Page 2 0of 13
QUESTION ONE:
1‘1!
1.1.1.
1.1.2.
1.1.3.
1.1.4. 5
1.1.5.
1.2, N
)
No. Account debit Account credit Amount A (o) L
1.2.1.a
1.2.1.b
1.2.2,
1.2.3.a
1!2&3Ib
1.2.4. C
1-215!
36
1.3.1. Refer to transaction 1.2.1.
Name and explain the GAAP principle applied to the transaction,
3

GREENBLIRY SECONDARY SCHOOL

GRADE 10
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1.3.2. Refer to transaction 1.2.3.

Calculate the percentage discount the business received.

Page 3 of 13

FINAL EXAMINATION: 2016

2
1.3.3.  Provide the source document that would be used for transaction:
e 124,
2
e 1.2.5,
- '%..3.4. List TWO reasons why the bank may dishonour a debtor’s cheque.
2

GREENBURY SECONDARY SCHOOL

Total Marks

50

GRADE 10
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2.1.1. 'Income Statement for the year ended 28 February 2016

Sales (3 800 000

"Cost of‘salbes(z 100 000

Gross profit |

Other operating income:

Rent income( 132 750

Gross operating income

Operating expenses;

Bad debts(1 100

Telephone (10 500

" lnsurance.(lé‘ZOO‘

Operating profit

Interest income

| Profit before interest expense 50
Interest expense
Net profit / loss for the year
2.1.2.  List two items that will be included in Trade and other Receivables.
- .
R 2

GREENBURY SECONDARY SCHOOL

 GRADE 10 PLEASE TURN OVER
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2.1.3, Trade and other Payables:

13
- 2.2.1.
i) WORKINGS ANSWER
A
B
C
D
E
F
G
14
H
|
du, ,)2.2.2. List three control measures to be implemented by the business to properly manage
their tangible assets.
6

GREENBURY SECONDARY SCHOOL

Total Marks }

85

GRADE 10
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QUESTION THREE: BALANCE SHEET AND NOTES

ASSETS
'NON - CURRENT ASSETS

I Tangible Assets

Financial assets

| CURRENT ASSETS

}nventories

| TOTAL ASSETS

EQUITY AND LIABILITIES
'OWNER'S EQUITY

NON- CURRENT LIABILITIES

CURRENT LIABILITIES

Trade and oth'er payables

| TOTAL EQUITY AND EL]ABILlTiES

45

~ GREENBURY SECONDARY SCHOOL _ GRADE 10 ‘ . PLEASE TURN OVER
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FINAL EXAMINATION: 2016

OWNER'S EQUITY:

Balance beginning of year

Add : Net profit

Additional capital contributed

Less : Drawings

Balance end of year

GREENBURY SECONDARY SCHOOL

Total Marks

50

GRADE 10

PLEASE TURN OVER




ACCOUNTNG - Page 8 of 13

QUESTION FOUR:
4.1.

FINAL EXAMINATION: 2016

4.1.1.

4.1.2. '

' 4.1.3.

14.4.4.

4.2.1.  Calculate the following for 31 December 2016:
Mark — up: |

¢ _Isit acceptable?
e Provide TWO reasons for your answer

Current ratio.

Acid test ratio

GREENBURY SECONDARY SCHOOL GRADE 10

PLEASE TURN OVER




ACCOUNTNG

4.2.2,

4.2.3.

If the solvency ratiois 2.5 : 1

Page 9 0f 13

Calculate the value of Non — Current Liabilities

FINAL EXAMINATION? 2016

Return on equity

Does the business have a liquidity problem? Quote THREE financial indicators,
percentages or ratio’s to support your answer,

10

Should the owner be satisfied with his return on his investment? Explain briefly.

GREENBURY SECONDARY SCHOOL

Total Marks

40

GRADE 10
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QUESTION FIVE:

5.1, 5.1.1.
5.102.
5'1.3'
5.1.4,
5
5.1.5. ‘
5.2.1. Calculate the Direct Material Cost.
"¢
5.2.2.  Calculate the Prime Cost.
3
5.2.3.  Calculate Factory Overhead Cost
3
5.2.4. Calculate the unit cost. B S (
3
5.2.5.  Explain the difference between a fixed cost and a variable cost. Pr,dvid_e an
 example of each.
4

GREENBURY SECONDARY SCHOOL GRADE 10 PLEASE TURN OVER
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5.2.6.

5.3.

5.3.2,

5.3.

Page 11 of 13 FINAL EXAMINATION: 2016

The owner is considering increasing the wage per completed kite to R44.
List TWO consequences of an increase in wages to the business.

¢ 4
i'
il
iif.
iv.
V.
vi.
vil. 7
e Determine Input Vat and Output Vat
Input Vat Output Vat
6
e Calculate the VAT payable to or refundable by SARS.
3
List THREE consequences of VAT fraud.
3
Total Marks
40
PLEASE TURN OVER
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QUESTION SIX:

6.1.2.

6.1.3.

6.1.4.

6.1.5.

6.1.6.

The purpose of preparing a Cash Budget is to determine future profit or loss.
State whether this statement is True or False ' '

Refer to the Cash Budget, Identify the items that have been incorr‘eé'tly entered in
the Cash Budget »

Calculate the percentage increase in rent income.

On 1 January 2017 the busihess will purchase a new vehicle. A d'epdsi:t of R35 000
will be paid in January 2017 and the balance is to be paid in 10 equal monthly
instalments of R10 000 commencing on 1 February 2017.

Calculate the total purchase price of the vehicle.

Provide a reason why the interest on loan has decreased?

GREENBURY SECONDARY SCHOOL ‘ GRADE 10 ‘ PLEASE TURN OVER
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6.2.1.  Identify ONE problem in each tuck-shop and provide ONE solution or advice in
each case. For each problem, relevant figures must be quoted.

PROBLEM WITH FIGURES

SOLUTION/ ADVICE

Shop A

SHOP B

GREENBURY SECONDARY SCHOOL

Total Marks

40

GRADE 10
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QUESTION ONE:

Page 2 0f 13

FINAL EXAMINATION: 2016

1.1,
1.1.1. i y
112 | a ¥
1.1.3. D Y 5
114 | ¢ Y 5
115 | ¢ v

1.2,

No. Account debit Account credit Amount A 0 L
1.2.1.a fanie S bﬁﬁ‘(o({g @wm@(, S 4760 <y “ﬁ_?i{/ 0 0
12161 Bap  Deare v bejpas  (pumor bhpos, | - /| -/ | o

1‘//
122 Teome Qo | Reue / (aSo" Tl o | o
L23.2 | Qeollold  Coueoo! | Bang | agos | S | S
L23b loreuifors  Goureow | discoynt Recaven/ a0 | o |~
124 AN omkoss’ | Bawe / oV | - Y| o
l}/l // R
125 dedfors  (omel | Banic / 340 T3] o 0
Sk
36
1.3.1. Referto transaction 1.2.1.
Name and explain the GAAP principle applied to the transaction.
Prudeses . \/
Recoading 18 hous Lodfeasafigery - TR THo 3
) . 7/
puecfed 1o Ml Afuowf woT  aHe Bodeca 3
: o/ ‘
QAILS |
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1.3.2. Refer to transaction 1.2.3.

Calculate the percentage discount the business received.

FINAL EXAMINATION: 2016

[Qo.-
2400 £ 100

- 50 JY

1.3.3.  Provide the source document that would be used for transaction:

. 1.2.4. Bae  Yratemerr J

7

e 1.2.5. Bane  Dedr J

1.3.4.  List TWO reasons why the bank may dishonour a debtor’s cheque.,

o (teows 1< QA V'
¢ Ceque 1€ Po( DATed v
0 CHegue K Damaden /
o THO  Avoud! (1 Wone FhEyre DiFPeR .’”/

vz\}’ltj i
N

)
Total Marks
50
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QUESTION TWO:

2.1.1.

Page 4 of 13

FINAL EXAMINATION: 2016

Income Statement for the year ended 28 February 2016
Vi

/
Sales (3800000 - (P00 - 2 100) 3 767 Seo
Cost of sales(2 100000 - 1(5000"/) (2 04b @m)‘/
Gross profit | b7l 5obs
Other operating income: W, s ¢8o /
Rent income( 132 750 - ani)/@ 2 050/
TRabia Yok, Quapuue (331 boo + fom - 4o 530 ooo)| | koo //
DISCOWST  Reeguen %o /
Gross operating income | 785 390 G)
Operating expenses: y (, 050 Q—&SIZ) ( |
Bad debts(1100 + 400 B 92 000/
Telephone (10 500 + 5015)/ L " 000\/,
Insurance (16 200 [575‘*’}/ | 468 (7
PN ya
B ooces (K04 s36) 400 /
Paoud Mateunc (5800 < 1400y / T ac0./
douraies+ Whges (170 oo qom) 9 79 oo’
Peusion Gourei pation ¢ L %0 4q60) b ox’
WF Cour Butions ( 81164 4G) Q 0./
DEPRecinion  ( SQod 4 gl ab) 97 oV
Operating profit . . T34 qss@j‘)
Interest income fBOOO/(m ‘960> I %0@// =0 ( f
Profit before interest eXpenS}; / 134 #sg ;0
Interest expense [ @00 4 g0 O&D) [ 80 6100’)//
Net profit / loss for the year 109 :;)5,37]2)
\:
2.1.2.  List two items that will be included in Trade and other Receivables,
¢ Deslod QQ)Q@QU , / o Probany Béoeust;” 7 \/ ol
¢ [’\1_,@(&9@0 T ome v o Deour ow Euge(mcrry/ ?
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2.1.3.

2.2.1.

i) 2.2.2.

Page 5 of 13 FINAL EXAMINATION: 2016
Trade and other Payables: /
yay
Twoe  CReooes (6@ Qeov- 4&"{@0) kg o/
Peraes  Sases (Soo ) Soo V],
! /
Detprren  Tueeme a0 “?)OO CJ
Qoo ol Shuneigs b 680V
Peusion fund {633 +400) | 530V
ute (g0 +a46) Y
- 13
A0
78 3qo() |

WORKINGS ANSWER
A %00 000 ~ | ©So oD 250 Ooc
B | 880 0o - po 000 120 ©00 v:"
C | 470 oo =~ 3P oo 128 Poov|Y
o | o oo« /i HG qeps/
; /

; $79 44 ~
F o b — LT A
G | %000 ¥ uo x bla & 3¢ Lok '%;o 3¢ qbov)/ 1
H 490 o0 ¢ & ooo S Sb ooov/‘/
L1856 000 ~ (b2 3ho 393 oo/

List three control measures to be implemented by the business to properly manage

their tangible assets.
o fred Beoolt  To Bo  Oaseauneoen  PAMMST  THEFT mub  koteun/
v Dol of Rven  [Jtef¢ Be Ni‘mumm it
° dxg ok Sows  fsot?  Muw 85 Remires . Ja
o PRofer  Putdousmior MR BoauiGTiedl | / 6

, i avn
\ﬂv{w!\ altd  auswer (87&@
Total Marks
85
GREENBURY SECONDARY SCHOOL GRADE 10 PLEASE TURN OVER
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QUESTION THREE: BALANCE SHEET AND NOTES

FINAL EXAMINATION: 2016

ASSETS
NON — CURRENT ASSETS o soold)
Tangible Assets 0 Gop v
Financial assets , /

o fved DetwsiT [ #go obo - (@0 ooo) 300 oo V
CURRENT ASSETS A 54y 500 [P
Inventories ( $O @éc) ¢ i%D@é) 4 . A Vi 8 ooo V'

ATa0s ~ ottek  Ree Lo} £.08 + Q000 + 8 560 44000 ) 0 oo ()

Al O euivaenys (15004 9009 180 €o5) /] 183 sV,

( k

TOTAL ASSETS

%10 000 @"»f

EQUITY AND LIABILITIES

OWNER’S EQUITY

Hap Scf)

NON- CURRENT LIABILITIES /\ / / Y,

(¢ 00@

/
hom: tee iy (120 080 a0 Boo - 30000 - 36860) 44 cov
CURRENT LIABILITIES _ N y a4 50@
v A4 / ‘
Trade and other payables (55 000 +(Soon t SS00 1+ 3 bGO) i 500 L
VB ovanenet( 160 0o - 30 oo Y/ 130 ooo(?\;‘ ¢
TOTAL EQUITY AND LIABILITIES Qo oc:‘@@ /

GREENBURY SECONDARY SCHOOL GRADE 10
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Page 7 of 13

FINAL EXAMINATION: 2016

Total Marks

30

50

GREENBURY SECONDARY SCHOOL

GRADE 10

OWNER’S EQUITY:
BACANLE (A s00 V'
MDD NBT  PRoeT Q& 000
ADDITORAL  CADITAL oW TRIRUTED 30 ©oo V'
hege : Deawinag Cao 000 Y)/
Baanes  eud o Yesr
fay Soo /
9
5
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QUESTION FOUR:

FINAL EXAMINATION: 2016

4.1,
AL Loty N,
412 Propiraniu Ty J i
4.13. | Soryeney S 5
VT Retann 7
4.2.1.  Calculate the following for 31 December 2016:
Mark — up: QRoL  PRohir T
WS ob Saces
2 230 0o J X 1R
700 000 /
- A0 %o .
» Isit acceptable? Mo J
® Provide TWO reasons for your answer
¢ To  Maut  Sedoudc  Speg [L,,
° To wmBeeac A Poy ¢ W Geauring/ toage Diseouny s
o PBITY  THirewrsg
Current ratio
LR e Arsee CuRetf 1 aRiLITigS
B0 000 + @10 000 [H 00O Y |gp QOO 3
: . 3
9.95 " | @
Acid test ratio
CURRONT  ProesT- - XW/mmw& ; cuﬁz;wr MARILITres
bd 000 Vv v (@0 ©o
0.8 \ } 3
GREENBURY SECONDARY SCHOOL GRADE 10 PLEASE TURN OVER
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4.2.2.

4.2.3.

If the solvency ratio is 2.5 : 1
Calculate the value of Non — Current Liabilities

Torau  AsseT 0 TOUAL  WABILITESS
30 beo | gJo co D ooo 4

Q.8 |
N = %O O’Ofyf.?/h\g'/
= 320 poo /)
VoL > 330 oo L oo 2 R 4.

Return on equity

ROE - NET ProFiT

VG - owmed wagrry < I°
2 230 (oo@\/ NS
% (400 exott oo 6fb)

- 33.¢% /)

Does the business have a liquidity problem? Quote THREE financial indicators,
percentages or ratio’s to support your answer.

s Cuee Rafio - MREASED PRowvy 2.1 To Q«I)S‘."’(\/u’/

AUD Texr RA'ﬁfo - DeeesAten flov 0.8 [ o,g:;[/,

<

Y

Derfols  wibcefou PeRiod  Doeeeied &) T DAY 2

<

(Revifore Paymudf Peiod MoReAged @ ¢ pak A

<

No . /

li\ym\ tline

va RQ{'}Q\J S b@*@f&d A ;(5{,8(&@&&“

Should the owner be satisfied with his return on his investment? Explain briefly.

:
Yes o/ Petom ou wouiry  incRetged FRod 907 o

3378 % THY 19 WAHER  THAM  ATERNATIVE

3

INUERTMEU(S  offetids S8 -~ 4% .

Total Marks

o

40
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QUESTION FIVE:

v

5.1. 5.1.1. =
Fage /
5.2 | tago
5.13. | voge \/' S
14 Ipage Y 5
5.15. | Tue
5.2.1. | Calculate the Direct Material Cost.
dMme = (204 s+g;)‘/>< m;m‘/
N Lf.
= Q%”b Lo \/@ i
5.2.2.  Calculate the Prime Cost.
2
Pramie Q7 = I 3\7 DL, "”;
= It Yoo 4 o v &y bo> v
> 178 soo v
5.2.3.  Calculate Factory Overhead Cost
Ve £ ,
7 7 A 7
PoC # G000 4 &y Wo ¥ %/f‘ﬂb 4 (3 \l\}éo X‘Q//g)f
A SO0 9
5.2.4.  Calculate the unit cost.
Gt ol > TOTRC (ot  oF  Probucficw
) oF 0ene _
| 7 s Prepoan \/) 3
= 178800 (b "%0 . R e
2o V4 - 3
5.2.5.  Explain the difference between a fixed cost and a variable cost. Provide an
example of each.
fveo  lof  Rewaws  ConQrawr  iRResPecrios  of THO | 7
NUMBE of  wuTs  pRodoed Vo6 Rewr  Dewuntdy +
i 4
Nauabe  CosT  Ciroeee 0 DiReer  PRadopiod  To i
NumBeR of unir  PRodueed \/ ©4 &ﬁ\w MMEQM){&
GREENBURY SECONbARv SCHOOL GRADE 10
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5.2.6.  The owner is considering increasing the wage per completed kite to R44.
List TWO consequences of an increase in wages to the business.

* THe  Probucfiod WY  wWouls (NCREAZD . 2
© PROMT would  Deckehse 4/ 7
© BUuSMERS will HAvs To  INCRERe  Serlwg PRiev V)
byt R
N
5.3.
i ¢ S
ii. G v
iii. A v
v B v
v | F
vi. £ , ;}
vii, D v ’
5.3.2. s Determine Input Vat and Output Vat
In\p/gt Vat Output Vat
& ¢ 1 ‘/ '
2 A X ”’%\k S 000 XJ l‘D/ J/
[uo é
= 880 / = o / 6
’ " e Calculate the VAT payable to or refundable by SARS.
' : 3
AT Qawm‘/ = oo - Q0 - Ko /@ 3
5.3. List THREE consequences of VAT fraud.
o Pe / T es] W 8o rplRaed / 3
o Buywess  Meeww@ e By Revowred S ,
O RIMINAL  CHMRGE AN BO MIQTITUTeD AGHUVI[ %am{»@ss.

Total Marks

lpo

40
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QUESTION SiX:

The purpose of preparing a Cash Budget is to determine future profit or loss.
State whether this statement is True or False

2
Fause
6.1.2.  Refertothe Cash Budget. Identify the items that have been ihcor-re’ctly entered in
the Cash Budget
CReoll  SAWwS
3
Detheer Afiou
, Drmomag  op  Yock
/ Bap Benyy
6.1.3.  Calculate the percentage increase in rent income.
A5
| Scoo
~ 3
= l% {70
6.1.4.  On 1January 2017 the business will purchase a new vehicle. A deposit of R35 000
will be paid in January 2017 and the balance is to be paid in 10 equal monthly
instalments of R10 000 commencing on 1 February 2017.
Calculate the total purchase price of the vehicle.
38 0o <+ (IO oo K ,0)
- Q 125 oo
5
6.1.5.  Provide a reason why the interest on loan has decreased?
Rep AfMeuT  or  tea . 2
6.1.6.
A ] 33 tbo | S300 ?3% oo
R38 ©oo 4
Ny 3500 ~ 20 Q50 - % (8 10

GREENBURY SECONDARY SCHOOL GRADE 10 PLEASE TURN OVER



ACCOUNTNG Page 13 0f 13 FINAL EXAMINATION: 2016

6.2.1.  Identify ONE problem in each tuck-shop and provide ONE solution or advice in
each case. For each problem, relevant figures must be quoted.

PROBLEM WITH FIGURES SOLUTION/ ADVICE

THefT of 90 unite of

1 N PRNE QBCUMT\/ '
Shop A Cit s J{/

J

Toet) or enst) Rsoo JUeRTicate WHY  Cag
. (3700 - 3300) ok

(3 Choet . ,
iy ‘/u/ /

SHOP B

=)

Total Marks

40

40
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